Gearbox Series - GL

Selection of the optimum gearbox
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Order your APEX Gearbox

Recommended (for S5 Cycle Operation)
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Index : a. Acceleration, c. Constant,

d. Deceleration, p. Pause (Eq.1)

Nm

i =4
Nwork

n,, Output Speed of the Motor

Nuork Working Speed (Eq.2)

3 3 3
Noa Xty X Tog + Mo Xt X Ty +Nog Xty X Toy

» Tom = % Nog X T+ Nyg X t+Nog X ty
(Eq.3)
e Tomax =Tme X I X Kgxn
where K is
K No. of Cycles / hr
1.0 0~ 1,000
1.1 1,000 ~ 1,500
1.3 1,500 ~ 2,000
1.6 2.000 ~ 3,000
1.8 3.000 ~ 5,000
T..g Max. Output Torque of the Motor
N Efficency of the Gearbox (Eq.4)
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